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Общая трудоемкость дисциплины (модуля) 
	Вид занятий
	Распределение по семестрам
	Всего часов

	
	1 семестр
	2 семестр
	3 семестр
	4 семестр
	

	1
	2
	3
	4
	5
	6

	Общая трудоемкость
	72
	72
	108
	-
	252

	Аудиторные занятия, в т.ч.
	-
	-
	-
	-
	-

	   лекционные (ЛК)
	
	
	
	
	

	   практические (семинарские) (ПЗ, СЗ)
	6
	10
	10
	-
	26

	   лабораторные (ЛР) 
	
	
	
	
	

	Самостоятельная работа студентов
	66
	62
	62
	-
	190

	Форма промежуточного контроля
	зачет
	зачет
	36
	
	36

	Курсовая работа (курсовой проект) (КР, КП)
	
	
	
	
	


Краткое содержание курса
	№

п. п.
	Контролируемые разделы

(темы) дисциплины
	Наименование

оценочного средства

	Первый семестр

	1
	Контрольная работа №1

Грамматика: 

Имя существительное. Понятие об артикле. Порядок слов в предложении. Глаголы to have и to be в Present, Future и Past Indefinite. Оборот there + to be. Числительные. Предлоги. Местоимение. Отрицание в английском предложении. Повелительное наклонение. Спряжение глаголов в Present Indefinite, Past Indefinite и Future Indefinite в активном залоге.
	Выполнение контрольной работы.  [2] Учебное пособие (интернет ресурс)
Упражнения. Устный опрос грамматического материала.  [1] Учебник (интернет ресурс) 

	Второй семестр

	2
	Контрольная работа №2 

Грамматика: 

Спряжение глаголов во временах группы Indefinite, Continuous, Perfect активный залог. Пассивный. Модальные глаголы; эквиваленты модальных глаголов. Грамматические функции и значения слов that, one, it. Пассивный залог групп времен Indefinite, Continuous, Perfect. Функции слов to be, to have, to do. Простые неличные формы глагола.
	Выполнение контрольной работы.    [2] Учебное пособие (интернет ресурс)
Упражнения. Устный опрос грамматического материала.  [1] Учебник (интернет ресурс)

	Третий семестр

	3
	Контрольная работа №3 

Грамматика: 

Простые неличные формы глагола Participle I, Participle II в функциях определения и обстоятельства. Герундий. Определительные и дополнительные придаточные предложения; придаточные обстоятельственные предложения времени и условия. Интернациональные слова.

Инфинитив. Бессоюзное подчинение в определительных и дополнительных придаточных предложениях. Сложные формы инфинитива (Passive Infinitive, Perfect Infinitive). Обороты, равнозначные придаточным предложениям: объектный инфинитивные оборот, субъектный инфинитивный оборот. Причастия (Participle I, II). Независимый причастный оборот. Условные предложения.
	Выполнение контрольной работы.    [2] Учебное пособие (интернет ресурс)
Упражнения. Устный опрос грамматического материала.  [1] Учебник (интернет ресурс)


Форма текущего контроля
МЕТОДИЧЕСКИЕ  УКАЗАНИЯ
Особенностью овладения иностранным языком при заочном обучении является то, что объем самостоятельной работы студента по выработке речевых навыков и умений значительно превышает объем практических аудиторных занятий с преподавателем. Соотношение аудиторных и самостоятельных часов, отводимых на полный курс обучения равно 40 ч.: 240 ч. Таким образом, каждому аудиторному двухчасовому занятию должно предшествовать не менее шести часов самостоятельной работы студента.
Самостоятельная работа студента по изучению иностранного языка охватывает: заучивание слов английского языка, уяснение действия правил словообразования, грамматических правил, чтение текстов на английском языке вслух в соответствии с правилами чтения, понимание текстов, слушание текстов, записанных на магнитофонной ленте, с тем, чтобы научиться правильно произносить и пониматъ на слух содержание сообщения; построение вопросов и ответов к текстам; перевод на русский язык (устный и письменный).
ВЫПОЛНЕНИЕ КОНТРОЛЬНЫХ ЗАДАНИЙ И ОФОРМЛЕНИЕ КОНТРОЛЬНЫХ РАБОТ
1. Количество контрольных заданий, выполняемых вами на каждом курсе, устанавливается учебным планом института. В письме кафедры иностранных языков вашего института вы получите точный график выполнения контрольных работ.
2. Каждое контрольное задание в данном пособии предлагается в пяти вариантах. Вы должны выполнить один из пяти вариантов в соответствии с последними цифрами студенческого шифра: студенты, шифр которых оканчивается на 1 или 2, выполняют вариант № 1; на 3 или 4 - № 2; на 5 или 6 - № 3; на 7 или 8 - № 4; на 9 или 0 - № 5
В тех вузах, где нет системы шифра, кафедры иностранных языков указывают вариант, который студент должен выполнить. Все остальные варианты можно использовать в качестве материала для дополнительного чтения и для подготовки к экзамену.
3. Выполнять письменные контрольные работы следует в отдельной тетради. На обложке тетради напишите свою фамилию, номер контрольной работы и название учебника, по которому вы занимаетесь.
4. Контрольные работы должны выполняться чернилами, аккуратно, четким почерком. При выполнении контрольной работы оставляйте в тетради широкие поля для замечаний, объяснений и методических указаний рецензента.
Материал контрольной работы следует располагать в тетради по следующему образцу:
	Левая страница
	Правая страница

	Поля
	Английский текст
	Русский текст
	Поля


5. Контрольные работы должны быть выполнены в той последовательности, в которой они даны в настоящем пособии.
6. В каждом контрольном задании выделяется один или два абзаца для проверки умения читать без словаря, понимать основную мысль, изложенную в абзаце. После текста дается контрольный вопрос, с помощью которого проверяется, насколько правильно и точно вы поняли мысль, изложенную в абзаце (или абзацах). Ниже предлагается несколько вариантов ответа. Среди этих вариантов необходимо найти тот, который наиболее правильно и четко отвечает на поставленный вопрос.
7. Выполненные контрольные работы направляйте для проверки и рецензирования в институт в установленные сроки.
8. Если контрольная работа выполнена без соблюдения указаний или не полностью, она возвращается без проверки.
ИСПРАВЛЕНИЕ РАБОТЫ НА ОСНОВЕ РЕЦЕНЗИЙ
1. При получении от рецензента проверенной контрольной работы внимательно прочитайте рецензию, ознакомьтесь с замечаниями рецензента и проанализируйте отмеченные в работе ошибки.
2. Руководствуясь указаниями рецензента, проработайте еще раз учебный материал. Все предложения, в которых были обнаружены орфографические и грамматические ошибки или неточности перевода, перепишите начисто в исправленном виде в конце данной контрольной работы.
3. Только после того, как будут выполнены все указания рецензента и исправлены все ошибки, можно приступить к изучению материала очередного контрольного задания и его выполнению.
4. Отрецензированные контрольные работы являются учебными документами, которые необходимо сохранять; помните о том, что во время зачета или экзамена производится проверка усвоения материала, вошедшею в контрольные работы.
ПОДГОТОВКА К ЗАЧЕТАМ И ЭКЗАМЕНАМ
В процессе подготовки к зачетам и экзаменам рекомендуется: а) повторно прочитать и перевести наиболее трудные тексты из учебника; б) просмотреть материал отрецензированных контрольных работ; в) проделать, выборочно отдельные упражнения из учебника для самопроверки; г) повторить материал для устных упражнений. 
КОНТРОЛЬНЫЕ ЗАДАНИЯ

Контрольное задание 1

Для того чтобы правильно выполнить задание 1, необходимо усвоить следующие разделы курса.

1. Имя существительное. Множественное число. Артикли и предлоги как показатели имени существительного. Выражения падежных отношений в английском языке и окончания –s. Существительное в функции определения и его перевод не русский язык.

2. Имя прилагательное. Степени сравнения имен прилагательных. Конструкции типа the more … the less.

3. Числительные.
4. Местоимения: личные, притяжательные, вопросительные, вопросительные, указательные, неопределенные и отрицательные.
5. Форма настоящего (Present), прошедшего (Past) и будущего (Future) времени группы Indefinite действительного залога изъявительного наклонения. Спряжение глаголов to be, to have в Present Past и Future Indefinite. Повелительное наклонение и его отрицательная форма.

6. Простое распространенное предложение: прямой порядок слов повествовательного и побудительного предложений в утвердительной и отрицательной формах; обратный порядок слов вопросительного предложения. Оборот there is (are).
7. Основные случаи словообразования.

Используйте следующие образцы выполнения упражнений.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К упр.1)

Грамматическая функция окончания –s

1. The student attended lectures                       Студенты посещают лекции и 

and seminars от the History                               семинары по истории


Lectures - множественное число от имени существительного a lecture лекция 

2. He lectures on economy.                                Он читает лекции по экономике.


Lectures – 3-е лицо единственного числа от глагола to lecture в Present Indefinite 

3. My brother’s son is a student                         Сын моего брата студент.

В слове brother’s ‘s – окончание притяжательного падежа имени существительного в единственном числе.

My brothers’ sons are students.                          Сыновья моих братьев студенты.

Слово brothers’ – форма притяжательного падежа имени существительного a brother во множественном числе.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 2 (К упр.II)

Особенности перевода на русский язык английских имен существительных, употребляющихся в функции определения, стоящего перед определяемым словом.

1. The scientist works at some                           Этот ученый работает над неко-

problems of low temperature                             торыми проблемами физики 

physics.                                                                 низких температур.
2. This girl studies at the Patris                                Эта девушка учится в универ-

Lumumba Friendship University.                            ситете Дружбы народов име-

                                                                                 ни Патриса Лумумбы.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 3 (К упр.III)

Lomonosov founded the first                                Ломоносов основал первый 

Russian University in Moscow.                             русский университет в Москве.

Founded – Past Indefinite Active от стандартного глагола to found.
Вариант 1

I. Поставьте артикль определенный (the) или неопределенный (a, an) в предложениях, если нужно. Предложения переведите. 

1. Yesterday I saw … new film, but … film wasn’t very interesting.

2. … London is situated оn … Thames.

3. … Yuri Gagarin was … first man to fly over … Earth in spaceship.

4. My daughter will go to … school next year.

II. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

· Показателем притяжательного падежа имени существительного.

1. Не works as an engineer.

2. A surface has two dimensions: length and breadth.

3. This young woman is my friend’s sister.

III. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.

1. Our professor prefers new research methods.

2. They change the office telephone number.

3. My friend has three room apartment.

IV. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. BASIC is one of the easiest programming languages.

2. Logical operations are as reasonable as mathematical ones.

3. The more complex the apparatus is the more reliable it is.

V. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. This element has some important properties.

2. The teacher’s assistant measures everything with great degree of accuracy.

3. She never says anything about her studies.

4. Every student is present at the lecture today.

VI. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The central processing unit carries out a variety of computations, numeric comparisons.

2. The object code programs created for these processors.

3. We will discuss the design philosophy behind the PC family.

VII. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. We ... cancel the meeting. The proposals are not ready yet.

a) may
b) can            c) have to
2. Sorry I won't be in Moscow at that time. I ... go to Minsk. My parents will celebrate their fortieth wedding anniversary.

     a) must
b) need to          c) may
3. You ... thank them. They have done so much for you.

a) can
b) may             c) ought to

4. The shop was losing money, so they ... close down.

a) must
b) had to               c) could
VIII. Прочитайте перепишите и письменно переведите на русский язык текст. 

Engineering specialists

There are more than 25 recognized career tracks for the engineer. And you can rest assured that as technology advances, engineering specialties will only grow in number.

A few of the major engineering specialties include; aerospace, chemical, civil, electrical industrial, materials, mechanical, power thermal and software engineering. Learn a little about each specialty.

Aerospace engineers create aircraft and spacecraft. Aeronautical engineers are those that work with aircraft while astronautics engineers are those that work with spacecraft. Aerospace engineers also work with and develop satellites and missiles. As you can imagine, many are employed by the military and the government.

Chemical engineers usually manufacture products and design processes for chemical manufacturing. Therefore, chemical engineering requires an understanding of chemistry and even molecules and their interactions. Chemical engineers may specialize in a particular field or chemical process.

Civil engineers maintain and develop public transportation systems. They construct roads, bridges, dams, tunnels, airports and irrigation and sewage systems. They also create water treatment processes and test buildings. Civil engineering is one of the oldest engineering specialties.

Electrical engineering is one of the biggest engineering fields and includes all power systems, circuitry, microprocessors, computer chips, digital broadcasting

and telephone switching systems. Electrical engineers traditionally focus on the generation and supply of power.

Вариант 2

I. Поставьте артикль определенный (the) или неопределенный (a, an) в предложениях, если нужно. Предложения переведите. 

1. I decided to visit … Ivanovs, but they were not at … home.

2. In … summer we lived in … country.

3. … Lomonosov, … great Russian scientist.

4. He was born in … small village on … shore of … White Sea.

II. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.

1. These are the famous scientist’s inventions.

2. These lines are short.

3. This program works properly.

III. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным.

1. Space research laboratories have modern equipment.

2. In our country many state supported public schools.

3. This workshop has high voltage transmission line design.

IV. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. ARJ is much more efficient with larger documents.

2. The smaller the computer the faster it operates.

3. The old method is not so efficient as the new one but less expensive.

V. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. There is something in the tube.

2. No student uses these instruments.

3. Every body is present at the lecture today.

4. Nobody puts water into the tube.

VI. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The microprocessor refers data in response to programs.

2. The 8086 processors introduced IA segmentation.

3. In future computers will understand human language.

VII. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. You ... exercise every day to keep fit.

a) can
b) may           c) must
2. He is overworking. He really... go to bed earlier.

a) may
b) can              c) should
3. I have a splitting headache. I... take an aspirin.

a) may
b) can               c) must
4. I know you ... do the job because you have knowledge and experience.

a) can
b) may              c) have to
VIII. Прочитайте перепишите и письменно переведите на русский язык текст. 

Engineering specialists
Electrical engineering is one of the biggest engineering fields and includes all power systems, circuitry, microprocessors, computer chips, digital broadcasting and telephone switching systems. Electrical engineers traditionally focus on the generation and supply of power.

Industrial engineers create assembly line systems to help with manufacturing processes. They utilize energy, people, machines and information to help organize the manufacturing of a specific product. Industrial engineers must solve organizational problems and create an efficient production process. Many industrial engineers are in management positions. Materials engineers develop and test materials for creating products. This includes the development of ceramics, metals, plastics, glass and other materials. They help construct buildings, highways

and manufactured goods from the materials.

Mechanical engineers are specialized engineers who work with mechanical devices. These may include elevators, refrigeration and air-conditioning equipment, robots and electric generators. Mechanical engineers design tools used in other engineering disciplines. As you can imagine, mechanical engineering is another one of the broadest engineering specialties. Learn more about a mechanical

career.

Software engineering is also called web, IT engineering or software programming. Software engineers create programs for use on computer platforms or on the internet.

Power thermal engineers are engaged in producing boilers, reactors, some equipment which is widely used in modern industry. They design the projects of power thermal, nuclear stations.

Вариант 3

I. Поставьте артикль определенный (the) или неопределенный (a, an) в предложениях, если нужно. Предложения переведите. 

1. … United States of America is one of … most powerful countries of … world.

2. Is your dress made of … silk or … cotton?

3. What … strange man he is!

4. … Volga is … longest river in … Europe.

II. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.

1. The flowers are beautiful.

2. Winter begins in December.

3. This is Ann’s book, I don’t like such books.

III. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным

1. The North Pole expedition made very important investigations.

2. All technical students have foreign language studies for two first years.

3. The Lenin Library has two million volumes.

IV. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. The old computers were less efficient than the modern ones.

2. Henry is more and more satisfied with his job.

3. The capabilities of an analog computer are not so great as those of an digital one.

V. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. There is no difference between these two figures.

2. Do you give books to everybody?

3. Some 15 tables hang on the walls.

4. Is there a tube anywhere on the shelf?

VI. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The central processing unit controls the computer’s basic operations.

2. In 1969 Intel designed the first microprocessor.

3.  Computer of the future will use biological functions of plants and animals.

VII. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. We told him he ... go home.
a) could
b) may              c) can
2.You ... drive carefully, it's foggy today.
a) can
b) could             c) should

3 .Times are hard but I... survive.
a) may
b) ought to         c) must

4. .... you travel to the UK without a visa?
a) should         b) must
c) can

VIII. Прочитайте перепишите и письменно переведите на русский язык текст

History of energy
The word energy derives from Greek ἐνέργεια (energeia), which appears for the first time in the work Nicomachean Ethics of Aristotle in the 4th century BCE.

Thomas Young - the first to use the term "energy" in the modern sense.

The concept of energy emerged out of the idea of vis viva (living force), which Leibniz defined as the product of the mass of an object and its velocity squared; he believed that total vis viva was conserved. To account for slowing due to friction, Leibniz claimed that heat consisted of the random motion of the constituent parts of matter — a view shared by Isaac Newton, although it would be more than a century until this was generally accepted.

Emilie marquise du Châtelet in her book Institutions de Physique (“Lessons in Physics”), published in 1740, incorporated the idea of Leibniz with practical observations of Gravesande to show that the "quantity of motion" of a moving object is proportional to its mass and the square of its velocity (not the velocity itself as Newton taught—what was later called momentum).

In 1802 lectures to the Royal Society, Thomas Young was the first to use the term "energy" in its modern sense, instead of vis viva. In the 1807 publication of those lectures, he wrote,

The product of the mass of a body into the square of its velocity may properly be termed its energy.[3]

Gustave-Gaspard Coriolis described "kinetic energy" in 1829 in its modern sense, and in 1853, William Rankine coined the term "potential energy."

It was argued for some years whether energy was a substance (the caloric) or merely a physical quantity.

Вариант 4

I. Поставьте артикль определенный (the) или неопределенный (a, an) в предложениях, если нужно. Предложения переведите. 

1. His brother is … student and we are … pupils.

2. What would you like … apple or … orange?

3. What is … nearest way to … Drama Theatre?

4. … Rostov is situated on … Don.

II. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.

1. Mr. Black says that Geometry is an important subject for students.

2. These disks are hard.

3. The wild animals’ life.

III. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным

1. He likes to listen the twentieth century music.

2. The workers install the new transformer in this shop.

3. Moscow has very heavy city traffic.

IV. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. ARJ is the best in compression.

2. The material of the textbook becomes less and less difficult.

3. What is the best way to compile a program?

V. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. Somebody works in the laboratory every morning.

2. He says nothing about his tests.

3. He puts some water into the tube.

4. No tables hang on the walls.

VI. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. Data passes through input/output ports.

2. The Pentium ® II processor added MMXTM instructions to the Pentium ® Pro processor architecture.

3. Each new generation of computer will open new possibilities for basic and applied research.

VII. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. She ... visit her parents more often.
a) may
b) should             c) needs to

2. The child …not part with his old teddy bear.
a) shall
b) can                   c) may
3. — Must I work this weekend? — No, you ....

a) mustn't        b) can't
c) needn't

4. It is difficult to work with her. Sometimes she ... be very hard to deal with.

a) can
b) must                 c) have to
VIII. Прочитайте перепишите и письменно переведите на русский язык текст

ENERGY

In the language of science energy is the ability to do work. There are various forms of energy, such as heat, mechanical, electrical, chemical, atomic and so on. One might also mention the two kinds of mechanical energy–potential and kinetic, potential energy being the energy of position while kinetic energy is the energy of motion. 

It is well known that one form of energy can be changed into another. A waterfall may serve as an example. Water falling from its raised position, energy changes from potential to kinetic energy. The energy of falling water is generally used to turn the turbines of hydroelectric stations. The turbines in their turn drive the electric generators, the latter producing electric energy. Thus, the mechanical energy of falling water is turned into electric energy. The electric energy, in its turn, may be transformed into any other necessary form. 

When an object loses its potential energy, that energy is turned into kinetic energy. Thus, in the above-mentioned example when water is falling from its raised position, it certainly loses its potential energy, that energy changing into kinetic energy. 

We have already seen that energy of some kind must be employed to generate the electric current. Generally speaking, the sources of energy usually employed to produce current are either chemical as in the battery, or mechanical, as in the electromagnetic generator. Chemical sources of current having a limited application, the great quantities of electric energy generated today come from various forms of mechanical energy. 

Вариант 5

I. Поставьте артикль определенный (the) или неопределенный (a, an) в предложениях, если нужно. Предложения переведите. 

1. We shall go to … cinema … next week together with … Petrovs.

2. What … good friend you are!

3. … butter and cheese are made of milk.

4. … Baltic Sea is on … South of … Russia.

II. Перепишите предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием –s  и какую функцию это окончание выполняет, т.е. служит ли оно:

· показателем 3-го лица единственного числа глагола в Present Indefinite;

· признаком множественного числа имени существительного;

Показателем притяжательного падежа имени существительного.
1. In summer the sky is blue and the sun shines brightly.

2. Those programs are of the same type.

3. My brother’s children are at home.

III. Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным

1. In our library there are many high quality textbooks.

2. The tram stop is three block of flats from here.

3. In this region there is the world’s largest iron ore deposits.

IV. Перепишите следующие предложения, содержащие разные формы сравнения и переведите их на русский язык.

1. ARJ compresses a little better than ARJ 7.00.

2. The more you read the more you learn.

3. Much less details are necessary for the new model.

V. Перепишите и переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1. My friends always go anywhere in summer.

2. Everyone makes experiments in the laboratories.

3. Somebody puts water into a tube.

4. Any body has mass and weight.

VI. Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык

1. The input/output ports connect the various memory and support chips to the bus.

2. We will point out the similarities and differences between the different microprocessors.

3. Not long ago computers were not very reliable and comparatively slow in operation.

VII. Перепишите следующие предложения, вместо пропусков вставьте нужный модальный глагол или его эквивалент; переведите предложения на русский язык.

1. Jack... look for another job in a month. His position was cut back (coкращена).

a) can
b) have to            c) must
2.   ... I park my car here? — No, you (...). It is a no parking zone.

a) can
b) may                 c) shall
3. Simon borrowed $2,000 for a year; the year is almost over and he ... pay it back.

a) have to
b) can                   c) may
4. I hate to say that but I... cancel the meeting. The proposals are not ready yet.

a) have to            b) must
c) need
VIII. Прочитайте перепишите и письменно переведите на русский язык текст

ENERGY
We have already seen that energy of some kind must be employed to generate the electric current. Generally speaking, the sources of energy usually employed to produce current are either chemical as in the battery, or mechanical, as in the electromagnetic generator. Chemical sources of current having a limited application, the great quantities of electric energy generated today come from various forms of mechanical energy. 

The rising standards of modern civilization and growing industrial application of the electric current result in an increasing need of energy. Every year we need more and more energy. We need it to do a lot of useful things that are done by electricity. 

However, the energy sources of the world are decreasing while the energy needs of the world are increasing. These needs will continue to grow as more motors and melted metals are used in industry and more electric current is employed in everyday life. As a result, it is necessary to find new sources of energy. The sun is an unlimited source of energy. However, at present, only a little part of solar energy is being used directly. How can we employ solar energy directly to produce useful energy? This is a question which has interested scientists and inventors for a long time. Lavoisier and other great scientists of the past melted metals with the help of solar furnaces. Today, solar furnaces illustrate just one of the numerous ways to harness the sun. Using semiconductors, scientists, for example, have transformed solar energy into electric energy. 

Контрольная задание № 2
Для того, чтобы правильно выполнить задание 2, необходимо усвоить следующие разделы курса английского языка по рекомендованному учебнику:

1. Видо-временные формы глагола: а) активный залог – формы Indefinite (Present, Past, Future); формы Continuous (Present, Past, Future); формы Perfect (Present, Past, Future); б) пассивный залог – формы Indefinite (Present, Past, Future).

2. Особенности перевода пассивных конструкций на русский язык.

3. Модальные глаголы: а) выражающие возможность: can (could), may и эквивалент глагола сan – to be able; б) выражающие долженствование must, его эквиваленты to have to , to be to; should.
4.  Простые неличные формы глагола: Participle I (Present Participle), Participle II (Past Participle) в функциях определения и обстоятельства. Gerund – герундий, простые формы.

5. Определительные и дополнительные придаточные предложения (союзные); придаточные обстоятельственные предложения времени и условия.

6. Интернациональные слова

Используйте следующие образцы выполнения упражнений.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К УПР. 1)

а) Lobachevsky’s geometry had                              Геометрия Лобачевского про-

revolutionized mathematics and                          извела коренное изменение в ма-

philosophy of science.                                           тематике и философии науки.

had revolutionized – Past perfect Active от глагола to revolutionize

б) The new laboratory equipment                          Вчера послали за новым обору-

was sent for yesterday.                                         дованием лаборатории.

was sent for – Past Indefinite Passive от глагола to send

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К УПР. II)
1. The changes affecting the                                Изменения, влияющие на состав
composition of materials are                                материалов, называются хими-

called chemical changes.                                      ческими изменениями.

affecting - Participle I, определение 

2. When heated to the boiling                              Когда воду нагревают до точки
point water evaporates.                                    кипения, она испаряется (или: При 

                                                                         нагревании до точки кипения вода 

                                                                         испаряется).

(When) heated – Participle II, обстоятельство

3. Heat is radiated by the Sun to the              Тепло излучается Солнцем на Зем-

Earth.                                                                лю. 

radiated – Participle II, составная часть видо-временной формы Present Indefinite Passive oт глагола to radiate.

Вариант 1

I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. Radio, electronics and television have already found great application in industry, transport and medicine.

2. The water in the tube is boiling

3. The information about these conditions was being studied by our group for a week.

4. The young specialists were offered to concentrate their efforts on the construction of bridges.

5. The engineers will be asked to make an experimental model of the device.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский язык.

1. London is not only the centre of commerce and finance but also a great port with many of the imported and exported goods passing through it.

2. Arranging all the existing elements in the Table Mendeleev overcame great difficulties, as a considerable number of elements were unknown at that time.

3. The results of the experiment made in our laboratory were good.

4. Much coal is consumed by the power station.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. We must use new methods in our research work.

2. The students were unable to work without their teacher’s help.

3. Every technical student is to study mathematics for some years.

4. He had to work hard to improve his project.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.
History of Power station

The world's first power station was built by Sigmund Schuckert in the Bavarian town of Ettal and went into operation in 1878. The station consisted of 24 dynamo electric generators which were driven by a steam engine. It was used to illuminate a grotto in the gardens of Linderhof Palace.

The first public power station was the Edison Electric Light Station, built in London at 57, Holborn Viaduct, which started operation in January 1882. This was an initiative of Thomas Edison that was organized and managed by his partner, Edward Johnson. A Babcock and Wilcox boiler powered a 125 horsepower steam engine that drove a 27 ton generator called Jumbo, after the celebrated elephant. This supplied electricity to premises in the area that could be reached through the culverts of the viaduct without digging up the road, which was the monopoly of the gas companies. The customers included the City Temple and the Old Bailey. Another important customer was the Telegraph Office of the General Post Office, but this could not be reached though the culverts. Johnson arranged for the supply cable to be run overhead, via Holborn Tavern and Newgate.

In September 1882 in New York, the Pearl Street Station was established by Edison to provide electric lighting in the lower Manhattan Island area. The station ran until destroyed by fire in 1890. The station used reciprocating steam engines to turn direct-current generators. Because of the DC distribution, the service area was small, limited by voltage drop in the feeders. The War of Currents eventually resolved in favor of AC distribution and utilization, although some DC systems persisted to the end of the 20th century. DC systems with a service radius of a mile (kilometer) or so were necessarily smaller, less efficient of fuel consumption, and more labor intensive to operate than much larger central AC generating stations.

Вариант 2
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. The scientist made lots of experiments.

2. We shall have done our work by 6 o’clock.

3. One of the machine-tool is being worked at in our country.

4. We were shown a new allow which will be used in modern technology.

5. The original design of the round conveyer was already referred to in some journals.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. Entering or leaving the room with ladies don’t rush before them.

2. The assistant was preparing the solution very carefully.

3. The data required were analyzed in our laboratory.

4. Heated glass is plastic.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. Due to the energy of the atom man can produce electric energy at atomic power stations.

2. You needn’t take all these measurements, we already know the result.

3. Physicists have to place the atom completely at the service of man.

4. The students are to be at the laboratory at 8 o’clock.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.

History of Power station

AC systems used a wide range of frequencies depending on the type of load; lighting load using higher frequencies, and traction systems and heavy motor load systems preferring lower frequencies. The economics of central station generation improved greatly when unified light and power systems, operating at a common frequency, were developed. The same generating plant that fed large industrial loads during the day, could feed commuter railway systems during rush hour and then serve lighting load in the evening, thus improving the system load factor and reducing the cost of electrical energy overall. Many exceptions existed, generating stations were dedicated to power or light by the choice of frequency, and rotating frequency changers and rotating converters were particularly common to feed electric railway systems from the general lighting and power network.

Throughout the first few decades of the 20th century central stations became larger, using higher steam pressures to provide greater efficiency, and relying on interconnections of multiple generating stations to improve reliability and cost. High-voltage AC transmission allowed hydroelectric power to be conveniently moved from distant waterfalls to city markets. The advent of the steam turbine in central station service, around 1906, allowed great expansion of generating capacity. Generators were no longer limited by the power transmission of belts or the relatively slow speed of reciprocating engines, and could grow to enormous sizes. For example, Sebastian Ziani de Ferranti planned what would have been the largest reciprocating steam engine ever built for a proposed new central station, but scrapped the plans when turbines became available in the necessary size. Building power systems out of central stations required combinations of engineering skill and financial acumen in equal measure. Pioneers of central station generation include George Westinghouse and Samuel Insull in the United States, Ferranti and Charles HestermanMerz in UK, and many others.

Вариант 3
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. The laboratory assistant was writing down all the data during our experiment.

2. By the end of the last century scientists had made the first attempts to obtain new material.

3. Now solar energy and its usage are being studied by a lot of research groups.

4. The machine-tool was mounted on a special work-bench.

5. The model of the device will be worked at in the plant laboratory.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. We need devices improving the accuracy of measurements.

2. While burning different substances combine with oxygen.

3. Some heat resistant types of glasses can be heated until they are red and do not break if then placed into ice water.

4. The boiling solution has neither colour nor ordour.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.
1. You may use this instrument for measuring the pressure.

2. This power station was to supply us with all necessary energy.

3. The lecture is to begin at 9 o’clock.

4. We ought to come in time.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.

Renewable sources

The wind, Sun, and biomass are three renewable energy sources.
Renewable energy is energy which comes from natural resources such as sunlight, wind, rain, tides, and geothermal heat, which are renewable (naturally replenished). Renewable energy is an alternative to fossil fuels and was commonly called alternative energy in the 1970s and 1980s. In 2009, about 16% of global final energy consumption came from renewables, with 10% coming from traditional biomass, which is mainly used for heating, and 3.4% from hydroelectricity. New renewables (small hydro, modern biomass, wind, solar, geothermal, and biofuels) accounted for another 2.8% and is growing very rapidly. The share of renewables in electricity generation was around 19.4%, with 16.1% of global electricity coming from hydroelectricity and 3.3% from new renewables.

Wind power is growing at the rate of 21% annually, with a worldwide installed capacity of 238 gigawatts (GW) in 2011, and is widely used in Europe, Asia, and the United States. At the end of 2011, cumulative global photovoltaic (PV) installations surpassed 69 GW, an increase of almost 70%, and PV power stations are commonplace in Germany, Italy, and Spain. Solar thermal power stations operate in the USA and Spain, and the largest of these is the 354 megawatt (MW) SEGS power plant in the Mojave Desert. The world's largest geothermal power installation is The Geysers in California, with a rated capacity of 750 MW. Brazil has one of the largest renewable energy programs in the world, involving production of ethanol fuel from sugar cane, and ethanol now provides 18% of the country's automotive fuel. Ethanol fuel is also widely available in the USA.

Climate change concerns, coupled with high oil prices, peak oil, and increasing government support, are driving increasing renewable energy legislation, incentives and commercialization. New government spending, regulation and policies helped the industry weather the global financial crisis better than many other sectors. Scientists have advanced a plan to power 100% of the world's energy with wind, hydroelectric, and solar power by the year 2030, recommending renewable energy subsidies and a price on carbon reflecting its cost for flood and related expenses.

Вариант 4
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. Our country has made great achievements in all fields of industry, technology and science.

2. From time to time the laboratory assistant looks up at the solution which is boiling on the burner.

3. The flame of the burner is being regulated, the powerful ventilators are being turned on.

4. When the delegation arrived, the designer was sent for.

5. All the metal parts are cut automatically.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. When heated a magnet loses its magnetism.

2. A molecule is a compound consisting of two or more atoms.

3. Oxygen is soluble in water becoming a liquid at about 180˚ C.

4. Some new properties of the polymer found during the experiments were quite unexpected.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. The planet Pluto is so far away that we cannot study it easily.

2. They ought to help their friend to solve this important problem.

3. Nobody was able to understand this mysterious phenomenon.

4. The solar batteries must heat and light homes.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.
Renewable sources
While many renewable energy projects are large-scale, renewable technologies are also suited to rural and remote areas, where energy is often crucial in human development. Globally, an estimated 3 million households get power from small solar PV systems. Micro-hydro systems configured into village-scale or county-scale mini-grids serve many areas. More than 30 million rural households get lighting and cooking from biogas made in household-scale digesters. Biomass cookstoves are used by 160 million households.

Wind, water, and solar power using current technology can supply all of the world's energy by 2030, and has the advantage that consumption is reduced by 30%. Excess production would be used to produce hydrogen for use in ships and airplanes.It also has the advantage that it lasts for as long as we are on the planet, vs. less than a century for most of the non-renewable resources. Conventional production of oil peaked in 2006, and the more we use the faster it will be depleted. An investment in non-renewable resources of $8 trillion is required to maintain current levels of production for 25 years, a cost that is avoided by transitioning instead to renewables. A 2010 study estimated that Australia could transition to 100% renewables for $370 billion over a ten-year period - about $8/household/week. Driving an electric car is like buying gasoline for $0.60/gallon, although in 2012 an electric car is over $8,000 more than one powered by gasoline. If they were mass produced, this differential would be reversed. The most expensive part, the battery, is projected to be reduced from $12,000 to $1,500 by 2020. Charging an electric car from roof mounted solar panels is almost free, other than the cost of installation, which could be included in the purchase price of the home. Electric cars have almost no maintenance costs. The EV1, an advanced prototypical electric car, was brought in once every 5,000 miles just to rotate the tires and re-fill the windshield washer fluid.

Вариант 5
I. Перепишите следующие предложения; подчеркните в каждом из них глагол- сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык. Переведите предложения на русский язык. Обратите внимание на перевод пассивных конструкций.

1. Barbara is measuring some liquid in the measuring-glass.

2. A system of space television has helped to televise programs directly to huge territories.

3. An interesting research is being done in our institute laboratory.

4. The huge automatic unit in the shop is looked after by only a few men.

5. The research into the properties of these metals was done at one of the Moscow institutes.

II. Перепишите следующие предложения; подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите является ли оно определением, обстоятельством или частью сказуемого. Переведите предложения на русский
1. The signals were sent by a powerful transmitter.

2. Combining hydrogen with oxygen in the proportion of two atoms of hydrogen and one atom of oxygen we produce water.

3. When heated glass may be easily worked.

4. The solution is boiling.

III. Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1. The engineer will have to improve the accuracy of this machine-tool.

2. He had to work hard before he was able to submit his paper to a scientific journal.

3. They could visit this new automation shop.

4. They were allowed to replace the old equipment.

VI. Прочитайте перепишите и письменно переведите на русский язык текст.

Boiler operation

The boiler is a rectangular furnace about 50 feet (15 m) on a side and 130 feet (40 m) tall. Its walls are made of a web of high pressure steel tubes about 2.3 inches (58 mm) in diameter.

Pulverized coal is air-blown into the furnace through burners located at the four corners, or along one wall, or two opposite walls, and it is ignited to rapidly burn, forming a large fireball at the center. The thermal radiation of the fireball heats the water that circulates through the boiler tubes near the boiler perimeter. The water circulation rate in the boiler is three to four times the throughput. As the water in the boiler circulates it absorbs heat and changes into steam. It is separated from the water inside a drum at the top of the furnace. The saturated steam is introduced into superheat pendant tubes that hang in the hottest part of the combustion gases as they exit the furnace. Here the steam is superheated to 1,000 °F (540 °C) to prepare it for the turbine.

Plants designed for lignite (brown coal) are increasingly used in locations as varied as Germany, Victoria, Australia and North Dakota. Lignite is a much younger form of coal than black coal. It has a lower energy density than black coal and requires a much larger furnace for equivalent heat output. Such coals may contain up to 70% water and ash, yielding lower furnace temperatures and requiring larger induced-draft fans. The firing systems also differ from black coal and typically draw hot gas from the furnace-exit level and mix it with the incoming coal in fan-type mills that inject the pulverized coal and hot gas mixture into the boiler.

Plants that use gas turbines to heat the water for conversion into steam use boilers known as heat recovery steam generators (HRSG). The exhaust heat from the gas turbines is used to make superheated steam that is then used in a conventional water-steam generation cycle, as described in gas turbine combined-cycle plants section below.

Контрольная работа № 3


Чтобы правильно выполнить работу 3, необходимо усвоить следующие разделы курса английского языка по рекомендованному учебнику:

1. Грамматическая функции и значения слов that, one, it.

2. Пассивный залог (the Passive Voice) видо-временных форм Indefinite, Continuous, Perfect.
3. Функции глаголов to be, to have, to do.
4. Простые неличные формы глагола. Инфинитив в функции а) подлежащего, б) составной части сказуемого, в) определения, г) обстоятельства цели.
5. Бессоюзное подчинение в определительных и дополнительных придаточных предложениях.
Используйте образцы выполнения упражнений.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 1 (К УПР. 1)
Present Perfect Passive

The main question has already                               Главный вопрос уже обсудили.

been discussed.

Present Indefinite Passive

His scientific work is much                                     О его научной работе много
spoken about.                                                             говорят. 
ОБРАЗЕЦ ВЫПОЛНЕНИЯ 2 (К УПР. II)

1. It is necessary to use the latest                            Необходимо использовать в
means of control in industry.                                   Промышленности новейшие

                                                                                 средства контроля.

2. One should agree that that                                   Следует согласиться, что этот

experiment was of great importance                       эксперимент имел большое зна-

for our research.                                                       чение для нашего исследования.

3. It is hydrogen that will be the main                    Именно водород будет основным
source of energy in the car of the                            источником энергии в автомоби-

future.                                                                      ле в будущем.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 3 (К УПР. IV)

1. What is the name of the book                              Как называется книга, которую
you are reading?                                                       ты читаешь?

2. The region we must explore                                Регион, который мы должны ис-

possesses great natural resources.                            следовать, обладает огромными

                                                                                  природными ресурсами.

ОБРАЗЕЦ ВЫПОЛНЕНИЯ 4 (К УПР. V)

1. To operate the complex device


Управлять этим сложным меха-
Is rather difficult.





низмом довольно трудно. 










(подлежащее)

2. Our aim is to fulfill our work in 


Наша цель сосотоит в том , что-

time.







бы выполнить работу во время.










(часть сказуемого)

Вариант 1

I. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. Sometimes a decision to compute is followed by a process of selecting the particular kind of computing machine best suited for the given problem.

2. Soon one will be able to get to Kronstadt by road as well as by sea.

3.May 7, 1895 has entered the history of science as the date of the invention of radio.

4. The builders are planning the road.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is proved that light needs time to travel any distance.

2. One must take part in scientific work.

3. Specialists consider that in future city transport will reject gasoline.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. You have to come to the language laboratory of the Institute to work at your pronunciation.

2. This material does not possess elastic properties.

3. Scientists had to create new materials foe industry.

4. The exam was to start in the morning.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. The methods we have just described are very effective.

2. The instruments our plant produces help to automate production process.

V. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.
1. The Russian science was the first to make great contribution to the development of space technology.

2.In order to make interplanetary flights in the future it is necessary to know factors affecting the human organism.

3. The main purpose of the computers is to solve complex problems quickly.

VI. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.
1. We found them to be interested in the problem. 

2. We consider Lomonosov to be the founder of the Russian literary language.

3. The capacity of this aggregate proves to be increasing during the experiment.

4. The discovery of a laser is sure to be of great value.

VII. Прочитайте перепишите и письменно переведите на русский язык текст.
Steam condensing

The condenser condenses the steam from the exhaust of the turbine into liquid to allow it to be pumped. If the condenser can be made cooler, the pressure of the exhaust steam is reduced and efficiency of the cycle increases.

The surface condenser is a shell and tube heat exchanger in which cooling water is circulated through the tubes. The exhaust steam from the low pressure turbine enters the shell where it is cooled and converted to condensate (water) by flowing over the tubes as shown in the adjacent diagram. Such condensers use steam ejectors or rotary motor-driven exhausters for continuous removal of air and gases from the steam side to maintain vacuum.

For best efficiency, the temperature in the condenser must be kept as low as practical in order to achieve the lowest possible pressure in the condensing steam. Since the condenser temperature can almost always be kept significantly below 100 °C where the vapor pressure of water is much less than atmospheric pressure, the condenser generally works under vacuum. Thus leaks of non-condensible air into the closed loop must be prevented.

Typically the cooling water causes the steam to condense at a temperature of about 35 °C (95 °F) and that creates an absolute pressure in the condenser of about 2–7 kPa (0.59–2.1 inHg), i.e. a vacuum of about −95 kPa (−28.1 inHg) relative to atmospheric pressure. The large decrease in volume that occurs when water vapor condenses to liquid creates the low vacuum that helps pull steam through and increase the efficiency of the turbines.

The limiting factor is the temperature of the cooling water and that, in turn, is limited by the prevailing average climatic conditions at the power plant's location (it may be possible to lower the temperature beyond the turbine limits during winter, causing excessive condensation in the turbine). Plants operating in hot climates may have to reduce output if their source of condenser cooling water becomes warmer; unfortunately this usually coincides with periods of high electrical demand for air conditioning.

Вариант 2

I. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. A lot of various organizations have taken part in the design of the flood defence complex.

2. The building of the road is being planned by the designers of our Institute.

3. Such solution will make the problem more difficult.

4. The speed with which arithmetic operations are performed is affected by a number of factors.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is necessary to find new resources of cheap energy.

2. It was Einstein who came to the conclusion that the electromagnetic field is influenced by the gravitational field.

3. This metro station was opened last year and the one will be put into operation in two years.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. Man had to learn to obtain electric power directly from the Sun.

2. At present most of the industrial enterprises have their own electric power stations.

3. Specialists do not use solar cells in industry as they are too expensive.

4. The engineers are to study the problem of using cosmic rays.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. The hostel our students live in is situated not far from the metro station.

2. I think he has made a mistake in his calculations.

V. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.
1. To design new buildings is the work of an architect.

2. To measure volumes we must know the dimensions of a body.

3. Our plant was the first to install the automatic equipment.

VI. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.
1. We know Kramskoy to be the inspirer and organizer of the Peredvizhniki movement. 2. He considered himself to be the happiest man when he became the winner of the competition.

3. The neutrons and protons of an atom are known to be linked together to form a compact nucleus.

4. The application of this device is unlikely to give better results.

VII. Прочитайте перепишите и письменно переведите на русский язык текст.
Steam condensing
The condenser generally uses either circulating cooling water from a cooling tower to reject waste heat to the atmosphere, or once-through water from a river, lake or ocean.

The heat absorbed by the circulating cooling water in the condenser tubes must also be removed to maintain the ability of the water to cool as it circulates. This is done by pumping the warm water from the condenser through either natural draft, forced draft or induced draft cooling towers (as seen in the image to the right) that reduce the temperature of the water by evaporation, by about 11 to 17 °C (20 to 30 °F)—expelling waste heat to the atmosphere. The circulation flow rate of the cooling water in a 500 MW unit is about 14.2 m³/s (500 ft³/s or 225,000 US gal/min) at full load.

The condenser tubes are made of brass or stainless steel to resist corrosion from either side. Nevertheless they may become internally fouled during operation by bacteria or algae in the cooling water or by mineral scaling, all of which inhibit heat transfer and reduce thermodynamic efficiency. Many plants include an automatic cleaning system that circulates sponge rubber balls through the tubes to scrub them clean without the need to take the system off-line.[citation needed]

The cooling water used to condense the steam in the condenser returns to its source without having been changed other than having been warmed. If the water returns to a local water body (rather than a circulating cooling tower), it is tempered with cool 'raw' water to prevent thermal shock when discharged into that body of water.

Another form of condensing system is the air-cooled condenser. The process is similar to that of a radiator and fan. Exhaust heat from the low pressure section of a steam turbine runs through the condensing tubes, the tubes are usually finned and ambient air is pushed through the fins with the help of a large fan. The steam condenses to water to be reused in the water-steam cycle. Air-cooled condensers typically operate at a higher temperature than water-cooled versions. While saving water, the efficiency of the cycle is reduced (resulting in more carbon dioxide per megawatt of electricity).

From the bottom of the condenser, powerful condensate pumps recycle the condensed steam (water) back to the water/steam cycle.

Вариант 3

I. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. The relationship between the computers and the people that use them has been given much attention.

2. Radio is playing an ever increasing role in our life.

3. In 1938 the first TV station came into being in Moscow but the war stopped the development of television.

4. There will be more new synthetic materials in future.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is the number of electrons within the atom that determines the properties of a substance.

2. The territory of Moscow is larger than that of London.

3. In London one must get used to the left-side traffic.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. Some substances do not conduct heat.

2. Our plant is to increase the output of consumer goods.]

3. Soon our industry will have new and cheap sources of energy.

4. These computers will have to perform millions of operations per second.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. I think the drawing will be ready tomorrow.

2. Every substance a man comes in contact with consists of molecules.

V. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.
1. They promised to supply us with the necessary equipment.

2. The experiment to be carried out is of great importance for our research.

3. To convert chemical energy into electrical energy we must use an electrical cell.

VI. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.
1. We believe her to earn her own living herself. 

2. When I called on my friend I found him to have left for Leningrad.

3. These chemical changes appear to have been caused by heat.

4. Carbon steel has been known to be the principal product of the steel industry.
VII. Прочитайте перепишите и письменно переведите на русский язык текст.
Steam turbine generator

The turbine generator consists of a series of steam turbines interconnected to each other and a generator on a common shaft. There is a high pressure turbine at one end, followed by an intermediate pressure turbine, two low pressure turbines, and the generator. As steam moves through the system and loses pressure and thermal energy it expands in volume, requiring increasing diameter and longer blades at each succeeding stage to extract the remaining energy. The entire rotating mass may be over 200 metric tons and 100 feet (30 m) long. It is so heavy that it must be kept turning slowly even when shut down (at 3 rpm) so that the shaft will not bow even slightly and become unbalanced. This is so important that it is one of only five functions of blackout emergency power batteries on site. Other functions are emergency lighting, communication, station alarms and turbogenerator lube oil.

Superheated steam from the boiler is delivered through 14–16-inch (360–410 mm) diameter piping to the high pressure turbine where it falls in pressure to 600 psi (4.1 MPa) and to 600 °F (320 °C) in temperature through the stage. It exits via 24–26-inch (610–660 mm) diameter cold reheat lines and passes back into the boiler where the steam is reheated in special reheat pendant tubes back to 1,000 °F (500 °C). The hot reheat steam is conducted to the intermediate pressure turbine where it falls in both temperature and pressure and exits directly to the long-bladed low pressure turbines and finally exits to the condenser.

The generator, 30 feet (9 m) long and 12 feet (3.7 m) in diameter, contains a stationary stator and a spinning rotor, each containing miles of heavy copper conductor—no permanent magnets here. In operation it generates up to 21,000 amperes at 24,000 volts AC (504 MWe) as it spins at either 3,000 or 3,600 rpm, synchronized to the power grid. The rotor spins in a sealed chamber cooled with hydrogen gas, selected because it has the highest known heat transfer coefficient of any gas and for its low viscosity which reduces windage losses. This system requires special handling during startup, with air in the chamber first displaced by carbon dioxide before filling with hydrogen. This ensures that the highly explosive hydrogen–oxygen environment is not created.

Вариант 4

I. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. Magnetic amplifiers have been employed for more than fifty years; transistors were first reported upon in 1948 – 1949.

2. There exist more compounds of hydrogen than of any other element.

3. Some powerful radio stations have recently been built in the northern regions.

4. The machine-tool will measure its production itself.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. The success in chemistry made it possible to obtain a lot of new materials.

2. One must apply the material that can be machined easily.

3. It is the energy of falling water that is used to dive turbines.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.
1. The operators dealing with radioisotopes must have protective suits.

2. The engineers are to study the problem of using solar energy.

3. The chemical industry is one of the leading branches of our national economy.

4. Metals conduct electricity better than semiconductors do.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. We know radio and radar systems play a very important role at every report.

2. The information science gets about other galaxies comes through radio telescopes.

V. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.
1. The teacher to0ld her students to learn the poem by heart.

2. To translate a sentence is to discover its meaning.

3. The working people all over the world are uniting to fight the threat of a new war.

VI. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.
1. We know Kramskoy to succeed in understanding and revealing the deep inner world of the poet. 

2. We saw the car stop at the door.

3. Many proteins were found to be mixtures of several chemical compounds.
4. These experiments are likely to have been made in suitable conditions.

VII. Прочитайте перепишите и письменно переведите на русский язык текст.
Steam turbine generator

The generator, 30 feet (9 m) long and 12 feet (3.7 m) in diameter, contains a stationary stator and a spinning rotor, each containing miles of heavy copper conductor—no permanent magnets here. In operation it generates up to 21,000 amperes at 24,000 volts AC (504 MWe) as it spins at either 3,000 or 3,600 rpm, synchronized to the power grid. The rotor spins in a sealed chamber cooled with hydrogen gas, selected because it has the highest known heat transfer coefficient of any gas and for its low viscosity which reduces windage losses. This system requires special handling during startup, with air in the chamber first displaced by carbon dioxide before filling with hydrogen. This ensures that the highly explosive hydrogen–oxygen environment is not created.
The power grid frequency is 60 Hz across North America and 50 Hz in Europe, Oceania, Asia (Korea and parts of Japan are notable exceptions) and parts of Africa.

The electricity flows to a distribution yard where transformers increase the voltage for transmission to its destination.

The steam turbine-driven generators have auxiliary systems enabling them to work satisfactorily and safely. The steam turbine generator being rotating equipment generally has a heavy, large diameter shaft. The shaft therefore requires not only supports but also has to be kept in position while running. To minimize the frictional resistance to the rotation, the shaft has a number of bearings. The bearing shells, in which the shaft rotates, are lined with a low friction material like Babbitt metal. Oil lubrication is provided to further reduce the friction between shaft and bearing surface and to limit the heat generated.

Вариант 5

I. Перепишите следующие предложения, определите в каждом из них видо-временную форму и залог сказуемого. Переведите предложения на русский язык.

1. Much attention is being paid to the development of three-dimensional television.

2. Our specialists had workers out a new flexible line some month ago.

3. The tests were being carried out well.

4. Many graphics programs are controlled by a mouse or some other device.

II. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения слов it, that, one.

1. It is necessary to obtain accurate data on the possibility of living and working in space.

2. The peoples know that their joint efforts can secure peace in the whole world.

3. We had to find new methods of investigation because the old ones were unsatisfactory.

III. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на разные значения глаголов to be, to do, to have.

1. A programme for the construction of new types of spaceships is to be carried out this year.

2. This device does help them a lot in their work.

3. We had to change the design of this machine.

4. The speed of electrons is almost the same as that of light.

IV. Перепишите следующие предложения и переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. We know electricity produces heat.

2. The new materials the Russian chemists developed were used in space technology.

V. Перепишите следующие предложения и переведите их на русский язык, определите функцию инфинитива.

1. It is necessary for Russian specialist to know a foreign language.

2. Our idea was to design a new device for automatic control.

3. To increase the productivity of labour one must use the methods we have just described.

VI. Перепишите и письменно переведите предложения на русский язык. Обратите внимание на правила перевода объектного и субъектного инфинитивного оборотов.
1. We know him to have been an excellent portrait painter. 

2. We knew the report to have consisted of two parts. 

3 Light and radio waves are said to be of similar nature.

4. The laser beam seems to have almost unlimited industrial possibilities.

VII. Прочитайте перепишите и письменно переведите на русский язык текст.
Boiler make-up water treatment plant and storage

Since there is continuous withdrawal of steam and continuous return of condensate to the boiler, losses due to blowdown and leakages have to be made up to maintain a desired water level in the boiler steam drum. For this, continuous make-up water is added to the boiler water system. Impurities in the raw water input to the plant generally consist of calcium and magnesium salts which impart hardness to the water. Hardness in the make-up water to the boiler will form deposits on the tube water surfaces which will lead to overheating and failure of the tubes. Thus, the salts have to be removed from the water, and that is done by a water demineralising treatment plant (DM). A DM plant generally consists of cation, anion, and mixed bed exchangers. Any ions in the final water from this process consist essentially of hydrogen ions and hydroxide ions, which recombine to form pure water. Very pure DM water becomes highly corrosive once it absorbs oxygen from the atmosphere because of its very high affinity for oxygen.

The capacity of the DM plant is dictated by the type and quantity of salts in the raw water input. However, some storage is essential as the DM plant may be down for maintenance. For this purpose, a storage tank is installed from which DM water is continuously withdrawn for boiler make-up. The storage tank for DM water is made from materials not affected by corrosive water, such as PVC. The piping and valves are generally of stainless steel. Sometimes, a steam blanketing arrangement or stainless steel doughnut float is provided on top of the water in the tank to avoid contact with air. DM water make-up is generally added at the steam space of the surface condenser (i.e., the vacuum side). This arrangement not only sprays the water but also DM water gets deaerated, with the dissolved gases being removed by a de-aerator through an ejector attached to the condenser.

Форма промежуточного контроля  

Оценка письменных грамматических работ обучающихся
Ответ оценивается отметкой «5», если:

1. все упражнения выполнены полностью;

2. студент ориентируется в грамматическом материале, способен исправить допущенную ошибку.

Отметка «4» ставится в следующих случаях:

1. упражнения выполнены полностью, но были допущены несколько ошибок (не более 3-4), но студент смог их исправить самостоятельно во время проверки;

2. допущены одна- две ошибки, но студент их исправить только при указании на них преподавателем. 

Отметка «3» ставится, если:

1. упражнения выполнены полностью, но допущено несколько ошибок (до 6), которые студент смог исправить только при указании на них преподавателем во время проверки;

2. упражнения выполнены полностью, но допущено несколько ошибок (до 6), которые студент не мог исправить самостоятельно во время проверки задания, но обладает обязательными умениями по проверяемой теме.

Отметка «2» ставится, если:

1. допущены существенные ошибки, показавшие, что студент не обладает обязательными умениями по данной теме в полной мере.

2. упражнения не выполнены.

Оценка устных ответов обучающихся

Ответ оценивается отметкой «5», если студент:

1. при проверке контрольного чтения и перевода текста не допустил ошибок и показал отличные знания лексики и грамматики по изучаемой теме;

2. при сообщении по теме (пересказе текста) не допустил ошибок; высказывание было построено логически. тема раскрыта полностью;

3. отвечал самостоятельно, без наводящих вопросов преподавателя;

Ответ оценивается отметкой «4», если удовлетворяет в основном требованиям на оценку «5», но при этом имеет некоторые из недостатков:

1. при контрольном чтении и переводе текста допущены ошибки, как в произношении, так в лексических значениях английских слов и предложений;

2. в изложении темы допущены небольшие ошибки, как грамматического, так и лексического порядка;

3. при сообщении по теме (пересказе текста) высказывание построено не совсем логически, тема раскрыта не полностью.

Отметка «3» ставится в следующих случаях:

1. при контрольном чтении и переводе текста допущено много ошибок, и в произношении, и в лексических значениях английских слов и предложений;

2. при сообщении по теме (пересказе текста) неполно раскрыто содержание, допущено большое количество грамматических ошибок, тема раскрыта не полностью.

Отметка «2» ставится в следующих случаях:

1. при проверке контрольного чтения и переводе текста допущено огромное количество ошибок, как в произношении, так в лексических значениях английских слов и предложений;

2. не готов к контрольному чтению и переводу текста;

3. при пересказе текста отсутствует логическое построение, студент путается в знании лексического и грамматического материала, вследствии чего допускает большое количество ошибок; тема не раскрыта;

4. обнаружено незнание обучающимся большей или наиболее важной части учебного материала;

Общая классификация ошибок

При оценке знаний и умений учащихся учитываются все ошибки (грубые и негрубые) и недочёты.

Грубыми считаются ошибки:

1. незнание определения основных грамматических понятий и правил;

2. незнание лексического материала;

3. неумение применять на практике грамматические правила;

4. невыполнение письменных заданий;

5. неумение применять знания лексического материала в устной и письменной речи;

6. неумение логически построить пересказ текста;

7. неумение читать английский текст;

8. неумение пользоваться первоисточниками, учебником и справочниками-словарями;

К негрубым ошибкам относятся:

1. неточность формулировок основных грамматических понятий и правил;

2. слабое знание лексического материала;

3. неточный перевод английского предложений;

4. неверное прочтений английских слов;

5. нерациональные методы работы со справочной и другой литературой;

6. неумение применять знания грамматики на практике;

7. неполное выполнение письменных и устных заданий;

8. неполное раскрытие темы при пересказе текста.

Недочетами являются:

1. небрежное выполнение записей, упражнений, переводов.

После изучения каждой устной темы, чтения и перевода текста по специальности, студенты должны выучить и сдать лексический материал по теме, сделать контрольное чтение и перевод изучаемого текста, а так же сделать сообщение по теме (пересказ).

Студенты, сдавшие чтение, перевод, пересказ текстов и написавшие все контрольные работы, допускаются к сдаче зачетов и экзамена. В конце 1,2 семестров студенты сдают зачет, а в конце 3 семестра – экзамен. 

Зачет получает студент на основании его текущей успеваемости, успешного написания контрольных работ по грамматическим темам, сдачи контрольного чтения, перевода и пересказа изучаемых текстов по специальности. На зачете студент сдает тот грамматический и лексический материал, читает, переводит и пересказывает тексты, которые не подготовил по каким-либо причинам на занятиях в течение семестра.

К экзамену студент допускается после того, как получит все предусмотренные программой зачеты.

Экзамен по иностранному языку проводится в устной и письменной форме. Экзаменационный билет включает 3 вопроса. Один вопрос выполняется в письменной форме, два других – в устной. 

Экзамен проводится по экзаменационным билетам. Экзаменационный материал подбирается преподавателем вуза и утверждается на расширенном заседании кафедры.

На экзамен студент должен:
1) Прочитать и перевести, пользуясь словарем, текст по специальности по широкому профилю вуза. 

Форма проверки понимания: письменный перевод всего текста.

2) Прочитать без словаря текст по специальности или по общему профилю вуза, содержащий базовый лексический минимум, и кратко изложить его содержание. 

Зачет

Перечень примерных вопросов для подготовки к зачету.
SOME OLD AND MODERN INVENTIONS
IN THE FIELD OF POWER ENGINEERING
AND RADIO ELECTRONICS
Many methods of making and storing electric charges were discovered during the 18th century. One of the first was the friction machine. Another was the Leyden Jar for storing electric charge. Benjamin Franklin discovered in 1752 that lightning and electricity were the same. At the same time the Russian Academicians M.V. Lomonosov and Rikhman proved the electrostatic nature of electricity of the atmosphere.
The electricity, which was known up to that time, was what we call static electricity. Little use could be made of it because it was difficult to produce in large quantities. Current electricity was discovered in 1780 by Galvani. Current which flowed through a circuit in one direction was called a direct current.
Упражнение 1. Используйте артикли a, an, the в предложениях, если нужно: 

1. Yesterday I saw ... new film, but ... film wasn't very interesting. 2. ... London is situated on ... Thames. 3. … Yuri Gagarin was ... first man to fly over ... Earth in spaceship. 4. My daughter will go school ... next year. 5. ... United States of America is one of ... most powerful countries of ... world. 6. Is your dress made of ... silk or ... cotton?
Упражнение 2. Напишите следующие предложения во множественном числе. Обратите внимание на глаголы to be и to  have: 
1. A new house is in our street. 2. This story is very interesting. 3. There was a woman, a man, a boy and a girl in the room. 4. In the farm-yard we can see an ox, a sheep, a cow and a goose. 5. Is this girl your sister? 6. Is this a good program? 7. That house is new.
Экзамен
Перечень примерных вопросов для подготовки к экзамену.

Форма экзаменационного билета
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	1.
	Read and translate the text 1a.
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Exam question 1a

ATOMIC POWER STATIONS

Part I
The application of nuclear energy to electricity is increasingly developing. This is a vital necessity as it is the only known potential capable of meeting mankind's various power requirements. These requirements are growing and natural fuels like coal, oil, and gas are being rapidly exhausted. Thus, it is to atomic power that man turns to solve the above problem. In effect, nuclear fuel greatly exceeds in its power equivalent all the world's reserves of coal and oil taken together.

The first atomic power station in France was put into operation at the end of September, 1956. Britain's first atomic power plant went into operation in October, 1956. It is in the Soviet Union that the world's first nuclear power plant generated the first commercial current in June, 1954. Nuclear power generation has made tremendous progress since then and scores of similar power plants are now operating in the world.

Our country has built and is building powerful atomic stations as well as reactors of a new type. Nuclear energy being developed in a reactor in the form of heat, its use supplies us with both cheap heat and power available in large quantities wherever needed.

The total capacity of our atomic power stations reached a million kilowatts. That is far from being the limit. As a matter of fact, it is expected that by 1980 the total power capacity of Soviet nuclear power plants will have reached tens of millions kw.
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